
Position Description Article No. Quantity

  1 Knurled screw without logo M6 x 22 mm 01-82-837-55 1

  2 Clamping element with pin R7,5 01-86-630-55 1

  3 Allen screw M5 x 36 mm 03-02-176-29 3

  4 Leg tube complete 6-21025-1-02 3

  5 End cap 01-84-980-55 3

  6 Square nut M5 03-08-210-29 3

  7 Knurled screw with logo M6 x 22 mm 01-82-948-55 1

  8 Extension tube with swivel head ø16 mm complete 6-11810-3-02 1

  9 Knurled screw with logo M6 x 10 mm 01-82-936-55 1

10 Screw connection of the music desk 3-00-000-065 1

11 Tilt connector complete 6-11810-4-55 1

12 Music desk 03-55-285-55 1

13 Accessories bag connecting plate 3-00-000-134 1

7 
/ 

20
22

 · 
K

Ö
N

IG
 &

 M
E

Y
E

R
 G

m
b

H
 &

 C
o

. K
G

 · 
K

ie
sw

eg
 2

 · 
97

87
7 

W
er

th
ei

m
/M

ai
n 

· G
er

m
an

y 
· e

-M
ai

l: 
co

nt
ac

t@
k-

m
.d

e 
· w

w
w

.k
-m

.d
e

Spare parts list 
 

118/1 Orchestra  

music stand 

 
11832-000-02 - chrome stand with black wooden desk 

 

*Rev 07 

5

6

7

8

9

10

12

11

2

13

3

4

1

https://www.canford.de/products/53-841
https://www.canford.de/products/53-846
https://www.canford.de/products/53-711
https://www.canford.de/products/53-713
https://www.canford.de/products/53-738
https://www.canford.de/products/53-735

	Page 1

